2%

72 min 100mm , y/ ot
if with end prfil
< T\ vt end prle ® | 3 e
3) 5 collector collector 1+ M12x80 T e 402
— © - S .
8| o 2o N &\ \Wr : NORTH A1
Bl & : §\ i s ’\
- I8 |G S - S
i © — — Sl D | 3200 )
<[ = 2 g | q
@ ] PIl 1 HQ 3
72 TABLE 1 ~ TABLEZ - D | 1 d H
min 100mm 54 i ‘k‘
if no end prfile
Cross section of head of pile 2" M12 P
Minimal distance between 2 finished - | &f]fa
The ramming machine head adjacent tables is 100 |
(preferably a rectangular shape) i
should be foreseen & R19 !
for the pile section tolerances up to +4mm!
2 c Parts RS0+R10 should be used in d
position 25mm or 50mm UP, only in o
FRAME WITH PV MODULES | DETAIL A case when can be shadow at the DETA”_ B [=}
- I end of the table from adjacent table N
Collector GC72 | n R19 or due to terrain irregularity ©
I R,
D aumini DETAIL A
+ Aluminium plate &
| 70x40x7mm . i
— \ | NOT SADEF DELIVERY R19 c Y Joint In case of using longer cleat R50
. R19
S 1 w12 Y élumi{]iukm plate - :]
'mm tickness |
NOT SADEF DELIVERY § - ~A ©
- < /2N 3 44
~. PEgA 7
* R19 - = i
3'M12 1:M12 > g > g R19 Joint R19
- - T
Joint between the purlins T 5 = 9 c Ground level =
p =
Flange bolt should be placed insid | ~. N 4 > - N —
the puin and flange nuf outside purin DETAIL | _ 2 A = -3
=3 § i S~ T K D) ||
Edge connection between T T - R19 W ”i9
collector and purlin -~ (R19 R19
LIST OF COMPONENTS & ACC > - SHt > ~._ u| >
- ~o LT T e ~. | Rio
Required < (e ~- o e Joint ~- =
torque _ < i S~ - - "
moment T = — T Y S
on I R19 - R19 T 2 A
bolts/nuts S S n ~. .
[Nm] - ~- IS R R, - "3 3
@13 holes in collector flange T ~_ 3 7 I~ ols
. . ~a 1 - - 3
to be drilled on site! ‘—/ ~-d Joint) " ~. - R19 S R19 818
3) B g 2 ~
24, 2 24 s W (@ : - - 5|2
i y T~ T~ M - D \‘\~ E
Collector GC72 c Collector GC72 Tl s ~ oy ~.
: \ ‘ S @ "~ 5 G
_ T~ ~ -
! ‘ i RIS % -7
! ™\_Collector 6072 45 25 e R19 -
! *M12 ! 3>
| { | =
m - @
L | L 1 &) -
‘ e — N | “— 2
. Aluminium plate 1 M2 70“:(2‘0)(7;““"5’ ate
Tensile force: 2,0kN 70x40x7mm *
Shear force: 0.4kN NOT SADEF DELIVERY NOT SADEF DELIVERY
ey | | 2 — ——r —,———— ——— 3200 }
: : 7~ 5712
L trumm g @ [
B GT) c 4 ©) Gemeten vanaf maaiveld >

**Required torque moment should be strictly respected and regulary checked during
assembly. If torque moment is more than specified the voestalpine Sadef warranty on
those bolted connections willautomatically and in an irreversible way become void.

Middle connection between

collector and purlin

holes must be
placed aligned

3D VIEW WITHOUT SOLAR PANELS

holes must be
| placed aligned

SECTION VIEW

25

Ial m(“\m N
25
1 ’\25

tolerances
25

DETAILC

2*R28 |

DETAILD

, ,
| | 1
I I
| | 1*M12
—— = -+ — = = = = === — = — B
|
T T C
|
77777777777777777 ! ! 1*M12
: 1 S
=N il Vi3 -
o '+ atboth sides o
Irel ! ! /@ e}
+ +
an P 1°M12
T T . I
—
§ 1* M12 A §
c | | c
1] 1 1 o
< 1 1 <
s | | ]
1 1
I I
I I
[@D) 1 1
T T 1 1 _
I I
I I
| | :
1 1 B
I I
’’’’’’’’’’’’’’’’’’’’’ Jre} 1 1
[ i I
I
I VP
(W Sl A |
o ) 1
Y . I
[P
—_— " \
N |
1222 i
I
3590 !
|
Washer M12
i e . R . . . . R70
SADEF may not take any responsibility if structure not built in 100% following this plan and "Assembly instruction". 0
Fixation of the solar panels to the SADEF frame should be done ing to the i of the supplier of the panels. -
In case of fixation with clamps: the solar panels should be placed in such a way that the maximum distance between clamp and panel is 2mm, and 2 panels the is 21mm.
The assembly tolerance can be bigger than those mentioned in the ‘Special to the f ’, as long as all bolts are placed in the holes foreseen by SADEF, and it is by the SADEF
(R72)

When tightening bolt and nut, the torque must always be applied to the nut (never to the bolt) .

In case of using bolts M12x80 in combination with tubes R10 there should be applied a prevailing torque of only 25Nm.

In case of structures with rammed studs - during ramming of the stud, the applied force by the ramming machine should be chosen in such a way that the stud remains intact. After ramming, the top of the rammed or driven studs
should be painted following our maintenance instruction with Zinga paint minimum 100 microns (average) zinc layer or similar in order to repair the y i ion.

The repair should always happen shortly after ramming and anyway before assembly of next pieces to the pile.

p

Standard irregularity in terrain flatness in East-West direction is +/-5cm per table. If irregularity (between the 2 ends of table) is more than 5cm, the SADEF customer clearly has to specify the maximum irregularity before sadef starts the design.

of 10 cm

finished

The layout of the solar tables on the terrain should be done in such a way, that ther always a minimal di
should be equal to the slope of the terrain (in %). E.g. 20% terrain slope --> 20cm minimal distance between tables.

The chosen surface treatment of the steel frame is no si water

Eventual consequences on the steel structure due to watei ion or gl will be the

Sadef recommends never to use copper in direct contact with galvanized steel. Grcundinﬁ cables lea:I alwfa;tl‘s hsa\:ie tfhe same electr
respons ibility of the Sadef customer.

or lower potential is used for grounding cables, eventual corrosion due to it will be the ful

tables. In case of a terrain with more than 10% slope, the minimal distance (in cm)

on the terrain surface. It is considered that the ground will absorb all rain water.
full ibility of the SADEF customer.

as the g

The content of the documents "Design data", and "Special conditions for components in solar frames (encl. A)" in enclosure is to be fully taken into account !

Tekla Structures

< i print and te nformation cortained here on s corfdental dsciosira. The subjec matier of wheh & property of SADEF NLV.
(

)itpro 1. the customer

2] tho cstamer y Sadel
) of the staei rame or

3).allparts (
informaton.

have. a gta  plas,

Sadet.If
laims of thrd parties. The labity o Sade s furtharmare subject o ta generalerms and candiions of Sacer.

Tnthis case,

d steel. If a metal with higher

Connections by using bolts M12

FOR CONSTRUCTION

BACKVIEW

In case the V-bracings J can not be placed ‘
in this section, they can be moved to another.

profile J should be

DETAIL G

connected with column using
two self-drilling screws R28 in
the highest possible position

profile J should be

connected with column using

two self-drilling screws R28 in
p p

osition

DETAILH

DETAIL F

G2 Energy Nibbixwoud

TABLE 1x14 collectors

This structure is valid for maximal terrain
slope in E-W / N-S direction: 5% / flat

This drawing should be used in accordance with
the content of "Assembly instruction”.

Every table has to be built in

E-W direction in one straight line.

gy

In case of higher terrain slope, the customer
has to do necessary earth movement

in order to respect the given slope limits

Final drawing
STRUCTURAL DARWING

This drawing must be printed on paper size not less than A3,

T ] b [sctmmoeg

2005208

[
Revivo | eV | RevISONDESCRPTON I

REV.DATE

] ] . ] i i et PR St SeelGate 9002 [y 54

The structure is designed for a terrain without soil settlements or soil sagging. 2 Eneray AL o 35 | e ©5

If soil settlements would occur, it is the full responsibility of the Sadef customer MO Table 1x14 10 I S

to take the necessary measures to avoid damage of the steel structure or PV panels. G2 s voestalpine Sadef nv oGO REVEOTD
Coliector structure ke R o e | M[OT] - PDB






